SGC &

/\

After installing this lift kit, the front wheels must be properly aligned.
Failure to properly align the front wheels may result in decreased
ability to control the Golf Cart which may result in a rollover or crash.

SGC
HD A-ARM LIFT KIT

FITS YAMAHA G29







R S

~ HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
kYAMAHA DRIVE/G29

S

PEPEPEPE P

roew

. N

Pr=GA

1. Main suspension assembly 4. Steering riser
2. Upper aarm 6. Sway bar bracket - Kingpin

l

e—lih—o : :
i —e L@ @J

3. Coilover shock 7. Rear shock mounting bracket
Used place SEQ Name Specification Qty

Hex Bolt 3/8-16*3 4
Upper A-Arm To Cart Fran 8 Flat washer 3/8 8
Lock Nut 3/8 4
Hex Bolt M12*70 2
Shock To Upper A-Arm 9 Flat washer M12 4
Lock Nut M12 2
Hex Bolt 3/8-16*1 3/4 4
Spindle To Steering Risg 10 Flat washer 3/8 8
Lock Nut 3/8 4
Hex Bolt 3/8-16*31/4 2
Kingpin To Upper A-Arm 11 Flat washer 3/8 4
Lock Nut 3/8 2
12 Heim Joint 2
Heim Joint 13 Hex Nut 1/2 4
Kingpin to Heim Joint 14 Nut M12 2
Rear Suspension HexBolt Mi0%0 2
Shock mounting bracket 15 Flgifivasher MY 4
Lock Nut M10 2
Hex Bolt M12-25 1
Sway Bar Bracket 16 " odk Nut M12 1
Hex Bolt M10-90 1
Sway Bar Bracket 17 Flat washer M10 2
Lock Nut M10 1
18 Drill Bit 11 1

~

WWW.STEELENGGOLFCART.COM

N N N N N N \N\‘(\

£

£ A 4 i

se

~

N

X
<
5
5
.
5
.
N
“



'HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
&YAMAHA DRIVE/G29

b
» After installing this lift kit, the front wheels must be propeligned. Failure to properly
%‘ align the front wheels may result in decreased ability to comiv@ golf cart which may
result in a rollover or crash.
N
N
N\
‘
%
AN
%
. 1. Engage park brake. Raise cart with lift and support with jack stBedwmve
% front wheels. Remove front bumper. Retain hardware.
N
N
\
2. Remove dust cover, cotter pin and hub. Retain hardware.
N WWW.STEELENGGOLFCART.COM
/

N N N N \ N N N ~ N N ~ b N

‘f‘&o‘



'HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
‘YAMAHA DRIVE/G29

Q
k W
N Y
ﬂ 3. Remove spindle from %
knuckle bracket.
\ Disconnect ball joint from '
. the spindle.
N ¢
‘. Remove inner tube from
\ inside the spindle. %
\ Retain the spindle and the v
\ nut that connects tie rod end. 4
X N
X X
N N
N X
9 "
| 4. Remove bolts from control
\ arm assemblies. X\
N Remove upper bolts from N
shocks to remove control
\ arm assembly. "
.
5
4
"
Y
N WWW.STEELENGGOLFCART.COM /4 b
4 ,
BN O ON O ON N N NN NN N



HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS

YAMAHA DRIVE/G29

7

N

.
N
b
\

N
s
) |
N
s

«
5
"
.
N
~
%

(o
. fel o#m
)

o) S o
#N. 8
* n =
> 7 o
EN EC R
Tl ©
N £ P o
n > o6 56
e’ ok = Q@ - =
S = Nl o O
..&O I+ ﬂb
S E2 29
I x S*¥ Ea
0 5 S o
> 5 X2 XS5
n O << [OR=]
nE o = O
'® S S ¢

~ 5 O =
S re) ® o

N < —
< o £ Q5
£ c % 63
)
< o © e
o)

N NN MMM

WWW.STEELENGGOLFCART.COM
N

N

¥ sk F - J/

g F A A S



B A

~ HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
kYAMAHA DRIVE/G29

R

h »

X \

x "

N x

N ¢

\, b

& .

% X

N N
6. Attach coilover shock #3 to cart frame using retained hardware @augper aarm

LY #2 using supplied hardware #9. N\

» .

| \

N R

N X

N X

“

5

|

7. Install heim joint #12 on the lower a-arm using supplied hex nuts TH&n install 4

the kingpin #5 on the upper a-arm #2 using hardware #11. Attach factorgllegm .

the kingpin then secure end of kingpin to heim joint using suppligdV12. %

N / WWW.STEELENGGOLFCART.COM / ) |

BN N N N N NN N A DR



. #

~ HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
kYAMAHA DRIVE/G29

‘,

\ .
N \
\
LY X
\ Factory nut .(
\ .
. B
X X
N N
; 8. Install steering riser #4 to spindle using hardware #10. Attach steesgrg ri
~ to tie rod end using factory nut. N
% .
5
N "
N X
N .
“
5
4
.
9. Reattach hubs and larger wheels. Front installation completed. "
N / WWW.STEELENGGOLFCART.COM / ) |
N NN N \ \ N N N NN A NN



HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
YAMAHA DRIVE/G29

10. Remove motor cover and retain. Remove upper bolt from rear shocks
on both sides. Retain hardware.

Hardware from step 10

11. Attach rear mounting bracket #7 in the opening using hardware #18urge
the ends of the bracket are angled towards the front of the cartacktupper
portion of factory rear shock to rear mounting bracket using hardviram step 10.




HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
YAMAHA DRIVE/G29

—

12. Drill hole through the bagwell in the location shown. Depending
manufacturing year, a rivet or bolt should be removed first. Be sudkill
straight down through entire frame. Dirill bit provided.

16/

13. Attach sway bar bracket #6 using hardware #16, then M10-90 from hardid/@re
from the drilled hole down to top. Attach sway bar to sway bar bragkang factory
hardware.




HD A-ARM SUSPENSION INSTALLATIONINSTRUCTIONS
YAMAHA DRIVE/G29

Rear Inner fenders & rockers will
need heated, reformed or cut for tire
clearance

After installing this lift kit, the front wheels must be propealigned. Failure to properly align the front
wheels may result in decreased ability to control the golf cart whi@y result in a rollover or crash.

IMPORTANT: Both camber and toe must be adjusted on this model.

Once installation is complete and the wheels have been reinstatiidhe cart forward 5-6 feet.

Ensure the wheels are pointing straight forward. To adjust toe,diodmmon point to measure from on the
Jvel (E}vS v Jve] €E €& }( 352 (EIWENNSEUX puEPESVEVIS]OISZ S} T106_
the rear measurement.

To adjust for proper camber, use a framing square, level or some other meamsfping that the tire is at a
90 degree angle to the ground.

To adjust toe-in/toe-out, loosen nut on tie rod end. Adjusingsa wrench to desired alignment.

IDWKZd EAJW veu®E 3Z 3 (3 € 5Z]+ ip+Su v3U EX-AZVOESH]VuUSUE
To adjust camber (the vertical tilt of the wheels) to 90 degree usiegwo nuts on the bottom heim joint.

If adjusting the camber to 90 degrees is not possible using only the agjosbn the bottom heim joint, then

the top heim joint must be disconnected from the spindle and rotated as necessaghieve the correct

camber.

IMPORTANT: Exposed tie rod threading should be equal on both §eBedsure to retighten all adjustment
points after adjustments are made. Once tightened, roll the cart back 5-6 fekthem forward again to check.






